) (€M)

Xy

..................................................

a0 d ) (cm)

ooa
&

5
&

------- EEEERY = b aRit = SERRPRRRERE = = TRERE TPPRRRRRRRE R 2

»

T

»

.

T

i

4

»

T

3

i+

rS

L &

=
LUULILI S DL

»

g

—=— DQM_TT__originalREDO100 mline)
—e— DQM_TT__originalREDO100f
—— DQM_TT__originalREDO100fb3

-1
< 10 R T ~ 15
@© : : : Q :
— . . . ~
L e . [
: : : a
E3 ARRRRR R LR R L R AERRIALERLRES o RARERERELEERRLRCRREEE - o
o : : : =
= I RSN RN ST ST R U S o
© 5 :
R AR A R e o |-_“_ IR
T e . :
+ -i|-
: : +
+ H e

Ratio
Ratio

3 2 -1 0 1 2 3 $BZ T2 1 0 1 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


